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APTITUDE TEST FOR 5 Year B.B.A. LL.B. (Hons.)/
B.Com. LL.B. (Hons.)

n}

Directions (Qn. Nos. 1 - 10): Which of the following phrases should replace
the phrase underlined to make the sentence grammatically correct?

1. It is true that there has been a considerable decline in rural poverty.

(A) has been considerably declining
(B) have been considered decline
(C) has a considerable decline

(D) No correction required

2. They have been attending classes since the term began.
(A) would attend (B) would be attending
(C) should attend (D) No correction required
3. He considers the new assignment as more challenging than much of

the other assignments.

(A) none of the other (B) most of the other
(C) rest of the other (D) No correction required
4, Resolutions must be introducing quickly to repeal the out dated laws.

(A) Dbe introducing to quick repeal
(B) be quick in introducing to repeal
(C) be quickly introduced to repeal
(D) No correction required

5. The driver did not accede at the demand of the people as he was
aware of the risk involved in it.

(A) did not accede to the demand
(B) did not accede at demanding

(C) was not accede at the demand
(D) No correction required
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6. Yoga exercises and meditation seems to be of help modermn men and
women deal effectively with anxiety.

(A) seem to be helping (B) seems to help
(C) seems to have help (D) seem to help
7. Though his actions were severe criticism, he did not lose his temper

(A) had severely criticized

(B)  were severely criticized
(C)- had severe criticized

(D) were at severely criticizing

8. ~Despite all the complaints against him, we must admit that his
behaviour with others has always courteous

(A)  have always courteous
(B) has always courteous

(C) has always been courteous
(D) No correction required

9. Whom did you intend to offer the Job besides the two young boys?

(A) Who are you intending to

(B)  Whom do you intend to
(C) Who do you intend for
(D)  No correction required

10. She always behaves as if she has not care at all about my feelings

(A) as far as she does not

(B) as though she will not

(C)- like if she does not

(D) as if she does not #
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Direction (Qn. Nos. 11 — 15): Select the word which best expresses the
meaning of the word given.

11. Plethora

(A) Meager (B) Vast

(C) Excess (D) Generous
12. Probity

(A) Integrity (B) Inipudence

(C) Profane (D) Preface

13.  Ubiquitous

(A) Present everywhere (B) Wealthy
(C) Problem solving (D) Fearsome -

14. Sporadic

(A) Harmmless (B) Unruly
(C) . Suggestive (D) Random

15 Pragmatic

(A) Unyielding (B) Practicable
(C) Mathematical (D) Logical

Direction (Qn. Nos. 16 — 18): Choose the most appropriate choice which
expresses the meaning of the phrase/idiom given below: -

16. Throw in the towel

(A) Writing on one’s hands
(B) Admit defeat and give up trying
(C) Show violence

N (D) Hard objects
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17. In the pink of condition 2
(A) Ina weak condition (B) Be under treatment
(C) At peak fitness (D) None of these
18. To eat humble pie
(A) To go to ruins (B) To be earnest
(C) Spread rapidly (D) To apologize

Direction (Qn. Nos. 19 and 20): Complete the sentence meaningfully
choosing the right alternative.

19. They are refugees in need of ...
(A) restoration 4 (B) rehabilitation
(C) recapitulation (D) renovation
20. The complainant was fined for his ...... .. complaint by court.
(A) nasty (B) frivolous
(C) lousy (D) frqud
21. . Choose the word opposite in meaning to the word “Despair”.
(A) Misery (B) Impair
(C) Hope (D) Shame
22, Which of the following is most nearly the same in meaning as the

phrase “Make Qut™?

(A) Read (B) Build
(C) Bring about (D) Recognise
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Direction (Qn. Nos. 23 - 26): Fill in the blank space with correct word -

23.  Ipoured themilk ............... the glass
(A) in (B) with
<) to (D) 1into
24, Imet Ber cosmsmsssosss the junction
(A) on (B) by
(C) Dbelow (D) at
25. Itasted ............... ice cream
(A) the (B) an
(C) a (D) into
26.  Ithought I should share my experience ............... you
(A) on B) at
(C) upon (D) with

Direction (Qn. Nos. 27 — 30): In each question two sentences I and II are
given. Each sentence has a blank in it. Find the suitable word which fits at
both places.

27. T Hewas............... in bringing about an end to the conflict
II. Mr. Hari Prasad Chaurasia is an exponentof ............... music
(A) instructor (B) popular
(C) expert (D) instrumental
28. L Many............... men remarry and have second families
II. When he was depressed, he felt utterly ............... from reality
(A) dividend © (B) disturbed

(C) separated (D) divorced
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£29. I Mostof our employees were ............... to be good at their work., .
IL. The aircraft and its crew were ...........___ missing
(A) found (B) posted
(C) stained (D) announced
30. L Headmired his............ . in the mirror
IL. The article is an accurate ............ of events that day
(A) photograph (B)- description
(C) reflection (D) production

Direction (Qn. Nos. 31 5 35): Choose the word that conveys the opposite
meaning '

31. DIMINISH

(A) Introduce (B) Decrease

(C) Increase (D) Improve
32. COMPLY

(A) Confirm , (B) Challenge

(C) Complain (D) Complete

33. TREACHEROQUS

(A) Useful (B) Faithful
(C) Violent (D) Tactful

34.  INQUISTIVE

(A) Immature (B) Unconcerned
(C) Inadequate (D) Uncomfortable

35. AFFLUENCE

(A) Semblance (B) Influence
(C) Neglect (D) Poverty
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Direction (Qn. Nos. 36 — 40): Fill in the blanks by choosing the correct
alternatives given below

36. The North-East Region of India, consisting of the seven sister states
............. . unable to keep pace with the growth happening in the rest
of the country

(A) should have been (B) have so far been
(C) have thus ‘ (D) hasbeen
37 To make a career in economics one should normally have a post_
graduate degree ...... A a few careers may be available after

graduating with economics as one of the subjects.

(A) since (B) although
(®) especially (D) however
38. AAP has issued a form for palty s ticket seekers in the ...............

Lok Sabha elections

(A) announced .(B) upcoming
(C) ensuing (D) nearing

39. Sahitya Academy Award has been

(A) declared ~ (B) published
(C) announced (D) promulgated
40. For certain age concessions admissible to various categories, please

............... the instruction regarding concession and relaxations.

(A) checkin (B) consider
(C) bring in (D) go through
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{ Direction (Qn. Nos. 41 ~ 45): Choose the word that conveys similar meaning .
of the word given. :

41.  ACCESS
(A) Enough . (B) Assent
(C) Approach ; (D) Applaud

42, SUPPLANT

(A) Replace (B) Support
(C) Suspect (D) Repeat

43.  DISTINCTION

(A) Importance A (B) Difference
(C) Discard (D) Confusion

44, POTENTIAL

(A) Feasibility (B) Possibility
(C) Energy (D) Capacity

45.  EMERGENCE

(A) Development (B) Appearance
(C) Evolution (D) Release

Direction (Qun. Nos. 46 — 50): Four alternatives are given for the idiom /
phrase underlined in the sentence. Choose the alternative which best

expresses the meaning of the idiom/phrase

46. ' have a feeling that she is taking you for a ride

(A) taking you in the car (B) trying to trick you
(C) pulling you along (D) trying to push you
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48.
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50.

51.

52.
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It is a far ery from Delhi to Athens

(A) an emotional journey (B) aboring journey
(C) not too long a way ' (D) along way off

The opinions in the meeting fell flat

~ (A) did not inspire others
(B) did not produce the desired effect
(C) were not goal oriented
(D) left everyone awestruck

At the end of the argumentation he got the better of me

(A) he overcame me (B) Tunderstood him better
(C) he got defeated (D) he thought I was good

Please look through the chapter before the examinations.

(A) study (B) omit
(C) get an explanation of (D) turn the pages of

In a class of 39 students, the ratio of boys and girls is 2:1. Radhika
ranks 15" among all the students from top and 8" among girls from
bottom. How many boys are there below Radhika?

A) 16 (B) 15
(C) 22 _ (D) 17

In a row of boys Vikas is 5" from the left and Prakash is 11" from the

right. If Vikas is 12" from the right, then how many boys are there
between Vikas and Prakash? '

(A) 12 (B) 13
© 14 D) 15
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Raja ranks 16" from the top and 49" from bottom in a class. How ~
many students are there in the class?

(A) 66 (B) 65
(C) o4 (D) 63

V, W, X, Y and Z, when arranged in descending order of their weights,
V is the 3™ from the top and Z occupies the position between Y and V.
X and Y are not at the tops. Who among them occupies second

‘position?
A) W B) Z
© X : D) Vv

Choose the correct alternative that will continue the same pattern and
replace the question mark in the given series
45, 54,47,7 ,49, 56, 51, 57, 53

(A) .46 (B) 55
() 48 (D) 50

Find the wrong number in the given series
7,28, 63, 124, 215, 342, 511

() 124 (B) 7
(C) o4 (D) 28

Choose the missing term out of the given alternatives for the series
AYBZC, DWEXF, GUHVL JSKTL, __?

(A) MQORN (B) MQNRO
(C) MQMOR (D) QMONR

Neck is related to Tie in the same way as”Waist is related to

(A) Pocket (B) Ribbon
(C) Shirt (D) Belt
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Which of the words given in the alternatives can be formed by using

the letters of the word “CORRESPONDING”*?

(A) DISCERN (B) RESPONSE
(C) REPENT (D) CORRECT

If ‘eraser’ is called ‘box’, ‘box’ is called ‘pencil’, ‘pencil’ is called

‘sharpener’ and ‘sharpener’ is called ‘bag’, what will a ‘child’ write
with?

(A) Eraser - (B) Pencil
(C) Sharpener (D) Box

Pointing to a photograph, Arun said, “She is the mother of my son’s
wife’s daughter”. How is Arun related to the said lady?

(A) Father—in-law (B) Cousin
(C) Uncle (D) Brother

In a certain code ‘786’ means ‘study very hard’, 958 means ‘hard work

pays’ and 645 means ‘study and work’. Which of the following is the
code for ‘very’?

(A) 6 - (B) 7
() 8 D) 5

Pointing to a man, Gopal said, “his only brother is father of my
daughter’s father”. How it the man related to Gopal?

(A) Father (B) Uncle
(C) Brother-in-law (D) Grandfather

The next number in the series 2, 5, 14,41 is

(A) 124 (B) 123
©) 122 (D) 121
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65. Bina is younger than Rita. Rita is younger than Kala. Kala is elder-

- than Nila." Nila is younger than Bala. ‘Who is the eldest of all of them?

(A) Bala (B) Rita
(C) Nila (D) Kala
66.  Kathir is senior to Ganesh. Ganesh is senior to Apparu. Apparu is

junior to Raju. Raju is Junior to Ganesh. Who is the most senior?

(A) Kathir (B) Raju
(C) Apparu (D) Ganesh
67. If MADRAS is coded as NBESBT, how is BOMBAY coded
accordingly?
(A) CPNCPX , (B) CPNCBZ
(C) CPOCBZ (D) CQOCBZ

Direction (Qn. Nos. 68 — 70: In the following questions, a series is given with
one term missing. Choose the correct alternative from the given ones that will
complete the series

68. FLA, GMB, HNC, IOD, ?

(A) JPE . ®) OIK
(C) NSD ' (D) TOE

69. 135,226,353, 1 ,739

b
——i

(A) 0632 (B) 522
(C) 622 (D) 722

70.  .4,7,13,22,34 _ 7

—_————

(A) 49 (B) 47
(C) 45 (D) . 52
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Direction (Qu. Nos. 71 — 73): Find out the missing letter in the given series
71. X ? plh

A) r B) q
©) s (D) t

2. yewgui 7

(A) r B) s
©) t D) k

73. b e: h k n 7 t

@A) o O ®

© p D) q
74. From the given alternatives select the word which cannot be formed by

using the letters of the word APPROPRIATE

(A) PROPER (B) RAPPORT
(C) APPROVE (D) PIRATE

75. If FLATTER is coded as 7238859 and MOTH.ER is coded as 468159,
then how is MAMOTH coded?

(A) 4344681 (B) 4344651
(C) 4346481 (D) 4146481

Direction (Qn. Nos. 76 — 83): In these questions, a series is given with one
term missing. Choose the correct alternatives that will complete the series

—

76. DA,HE,LI, ? TN

(A) PK (B) PM
(C) pI (D) PT
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77. B,ELLN,T_? 5
(A) Z ®) Y
€ X D) A
78. AZ CX,EV_?
(A) GS (B) HT
(C) HU (D) GT
79.  D9Y,J27S, P81M, V243G, ?
(A) C729B ‘ (B) A324B
(C) A729B (D) B729A
80.  YZ UTS,ONML, 2
(A) IHGFE (B) FEDCB
(C) HGFED (D) GFEDC
81.  2,1,(1/2), (1/4), 2
(A) 2/6 C®B) U5
(C) 1/4 D) 1/8
82.  7,10,8,11,9,12, 2
(A) 13 (B) 9
(C) 10 (D) 11
83.  36,34,30,28,24, 2 :
(A) 21 (B) 22

C) 24 (D) 28
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84. A car covers a certain distance at a speed of 24 kmph in 5 hours. To

: .2 :
cover the same distance mn 15 hours, it must travel at a speed of

(A) 32 kmph (B) 52 kmph
(C) 62 kmph (D) 72 kmph

Direction (Qn. Nos. 85 and 86): In each question below is given a statement
followed by two conclusions numbered I and II. You have to assume
everything in the statement to be true, then consider the two conclusions
together and decide which of them logically follows beyond a reasonable
doubt from the information given in the statement.

Give answer:

(A) If only conclusion I follows

(B) If only conclusion II follows

(C) If either I or II follows .

(D) If neither I nor II follows

5. Statements: In a cricket match, the total runs made by a team were
200. Out of these 160 runs were made by spinners.
Conclusions:
I. 80% of the team consists of spinners.
II. The opening batsmen were spiniiers.

(A) If only conclusion I follows
(B) If only conclusion II follows
(C) Ifeither I or II follows

(D) If neither I nor II follows
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£ 86. Statements: Population increase coupled with depleting resource base . J
is going to be the scenario of many developing countries in days to 4
come.
Conclusions: :
L. The population of developing countries will not continue to increase
in future.
IL It will be very difficult for the governments of developing countries
to provide its people decent quality of life.

s e

(A) If only conclusion I follows
(B) If only conclusion II follows
(C) IfeitherI or II follows

(D) If neither I nor II follows

Direction (Qn. Nos. 87 —92): Find the odd one out ! ' ]

87.
(A) Curd (B) Butter
(C) ail (D) Cream
88. , !
(A) Rose (B) Lotus a
(C) Marigold _ (D) Lily
89. .
(A) Pistol ‘ (B) Sword !
(C) Gun (D) Cannon
90.
(A) Cathedral (B) Mosque ,
(C) Church (D) Monastery ‘
91.
(A) France (B) Greece
(C) Spain (D) Korea
92.
(A) Copper : (B) Tin

(C) Brass ’ (D) Platinum
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Directions (Qn. Nos. 93 — 97): In each of the following questions, there is a
certain relationship between two given pairs of words on either side of the
symbol ¢ : : . Choose the correct alternative that completes the relationship in
the same sense.

93.

94.

95.

96.

97.

" Moon : Satellite : : Earth: ?

(A) Sun
(C) Solar System

Forecast : Future :: Regret: ?

(A) Present
(C) Past

Influenza : Virus :: Typhoid : ?

(A) Bacillus
(C) Protozoa

Fear : Threat : : Anger: ?

(A) Compulsion
(C) Provocation

Melt : Liquid : : Freeze : ?

(A) Ice
(C) Solid

(B)
(D)

(B)
D)

(B)
(D)

(B)

(D)

(B)
)

Planet
Asteroid

Atone
Sins

Parasite
Bacteria

Panic
Force

Condense
Crystal
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! Direction (Qn. Nos. 98 — 100): Read the passage carefully and answer the #
questions:

Five roommates sharing a room in Delhi namely Rama, Sunny, Terry,
Umakanth, and Vikram each do one housekeeping task mopping, sweeping,
laundry, vacuuming, or dusting one day a week, Monday through Friday. Now

1. Vikram does not vacuum and does not do his task on Tuesday.
ii.  Sunny does the dusting, and does not do it on Monday or Friday.
iii.  The mopping is done on Thursday.
“1v.  Terry does his task, which is not vacuuming, on Wednesday.
v.  The laundry is done on Friday, and not by Umakanth.
vi.  Rama does his task on Monday.

98. What does Terry do on Wednesday?

(A) Vacuuming ' (B) Dusting
(C) Mopping (D) Sweeping

99, What day does Umakanth do his task?

(A) Monday (B) Tuesday
(C) Wednesday (D) Thursday

100. 'What task does Vikram do? .

(A) Vacuuming (B) Dusting
(C) Laundry (D) Sweeping
101.  Which state has the most favourable sex ratio of 1040 females per
1000 males?
(A) Bihar (B) - Kerala
" (C) Delhi (D) Tamil Nadu

102. Human Rights Day is observed on

(A) 14" February (B) 26"™ November
(C) 2™ October (D) 10" December
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103. Decimal system was introduced by

(A) Aryabatta (B) Brahmagupta
(C) Bhaskara , (D) Sher Shah

104. Sun Temple is situated in which of the following states?

(A) Assam (B) Odissa
(C) Jammu and Kashmir (D) Madhya Pradesh

105. Baloons are filled with

(A) Helium (B) Oxygen
(C) Nitrogen (D) Argon

106. InIndia ‘Law Day’ is observed every year on

]

E (A) January 26 (B) August 15

E (C) May26 (D) November 26
' .
|

107.  The largest revenue source in India is

(A) Sales Tax (B) Income Tax
(C) Excise Duty (D) Export Duty

108. The scientific name of common salt is

(A) Sodium Chloride (B) Calcium Phosphate
(C) Potassium Chloride (D) Sodium Carbonate

109. Judges of the Supreme Court can hold office up to the age of

(A) 56 years (B) 54 years
(C) 60 years (D) 65 years
110. The Sepoy Revolt of 1857 was described as the first Indian War of
Independence by
(A) - M.N. Sen (B) R.C. Mazumdar

(C) Bipin Chandra - (D) V.D. Savakar
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What is common among the famous personalities - Kutty, 'Shankar,ﬁ

Laxman and Sudhir Dar?

(A) Drawing cartoons (B) Writing short stories
(C) Directing movies (D) None of the above

Fire temple is the place of worship of which of the following religion?

(A) Judaism . (B) Falun Gong
(C) Zoroastrianism (D) Confucianism

The National Song of India was written by
(A) Rabindranath Tagore
(B) Rash Behari Bose

(C) Nummaih Patel _
(D) Bankim Chandra Chatterjee

Who is fondly remembered as the Father of the White Revolution in
India and the Milkman of India?

(A) Dr. Varghese Kurien (B) M.S. Swaminathan
(C) Sam Pitroda : (D) None of the above

Earth Day is celebrated on

(A) January 4 (B) September 16
(C) April 22 (D) Junes

The largest mangrove forest in india is at

(A) Sunderbans (B) Vembanad
(C) Pitchavaram (D) Gulf of Mannar

The state of Jhérkhand was created by bifurcating

(A) Chattisgarh ‘ (B) Madhya Pradesh
(C) Bihar (D) Uttar Pradesh
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The headquarters of the South Asiqn Association for Regional
Cooperation (SAARC) is situated in

(A) New Delhi (B) Kathmandu
(C) Dhaka (D) Colombo

The main architect of the economic reforms of 1991 is

(A) Jawharlal Nehru (B) P.Chidambaram
(C) John Mathai : (D) Manmohan Singh

The headquarters of WTO is situated in

(A) Geneva . (B) New York
(C) Washington D.C (D) Brussels

The Bhopal Gas Tragedy took place in the year

(A) 1984 (B) 1985
(C) 1986 (D) 1987

Mahatma Gandhi was assassinated on

(A) January 28, 1948 (B) January 29, 1948
(C) January 30, 1948 (D) January 31, 1948

Who among the following was a tutor of “Alexander the Great”?

(A) Socrates (B) Plato
(C) Auistotle (D) Ptolmey

The members of Rajya Sabha hold office for a term of

(A) 3years (B) 4 years
(C) 5 years (D) 6 years

The office of the UN General Assembly is in

(A) Geneva (B) Montreal
(C) New York ” (D) Washington D.C
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Which of the following system is followed in India for dispensation of .
criminal justice?

(A) Adversarial system (B) Inquisitorial system
(C) Common law system (D) Civil law system

Law of Evidence is applicable to

(A) Criminal law (B) Civil law
(C) Both (A)and (B) (D) None of the above

English Law is also known as

(A) Civil law (B) Conflict law
(C) Local law (D) Common law

The maximum gap between two sessions of the Parliament can be

(A) 4 months (B) 6 months
(C) 9 months : (D) 12 months

PIL means

(A) Private Interest Litigation

(B) Public Interest Litigation

(C) Publicity Interest Litigation
(D) Professional Interest Litigation

At which level the Panchayath Raj System exists in India?

(A) Zila (B) Block
(C) Village (D) State

A person appointed by two parties to settle a legal dispute is known as

(A) Solicitor (B) Arbitrator
(C) Advocate ' (D) Attomey
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133. “Exparte decision’ means a decision given

(A) after hearing both the parties

(B) - without proper procedure

"(C) after observing proper procedure -
(D) without hearing the opponent

134. A formal instrument by which one person empowers another to
represent him?

(A) Will .
(B) Power of Attorney
(C) Power

(D) Instrument of Representation
135. Moot Courts, in law schools are for

(A) exercise of law teaching

(B) imaginary class from where a student acts as a teacher
(C) another name for Magistrate’s Court

(D) Mock Court, for practice by students

136.  The system of Indian Election
(A) Universal Adult Franchise
(B) Direct election system
(C) Mixed vote system

(D) Communal representation system

137. The name of the Union given in Article 1 of the Indian Constitution is

(A) Bharatavarsha or India

(B) Hindustan or Bharatavarsha
(C) India or Hindustan

(D) India or Bharat
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The President of India can nominate

(A) a maximum of two members to the Lok Sabha from the -
Minority Community . '

(B) a maximum of two members to the Lok Sabha from the Anglo
Indian Community

(C) a maximum of two members to the Rajya Sabha from the
Anglo Indian Community -

(D) a maximum of two members to the Rajya Sabha from the
Minority Community

The concept df Lok Adalat was introduced in India in the year

(A) 1987 (B) 1997
(C) 2001 (D) 2004

The Fundamental Duties of Indian citizens are enumerated in Part IV
A of the Indian Constitution inserted in the year

(A) 1971 ~ (B) 1974
(C) 1976 - D) 1977

The internal emergency during the tenure of Indira Gandhi as prime
minister on the grounds of intemal disturbance lasted between

(A) 1971-1973 (B) 1973-1975
(C) 1975-1977 (D) 1977-1979

Double jeopardy relates to

(A) punishing two persons for the same crime

(B) punishing a person for the same crime twice
(C) punishing a person for different crimes twice
(D) punishing two persons for the same crime twice
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143. A state in India can be bifurcated

. (A) by the Parliament only with the consent of the State

Legislature concerned

(B) Dby the Parliament with or without the consent of the State
.Legislature concerned

(C) by the Parliament only with the ‘consent of the State
Government concerned

(D) by the Parliament only with or without the consent of the
State Government concermned

144.  The Special status of Jammu and Kashmir is conferred by

(A) Article 352 (B) Article 356
(C) Article 370 (D) Article 371

145. The commission set up to look into the Telegana issue was headed by

(A) Justice Venkatachalliah (B)b Justice Sti Krishna

(C) Justice Hegde (D) None of the above
146. A doctorhasa............. relationship with his patient
(A) avuncular _ (B) moral
(C) fiduciary (D) non legal
147. “An eye for an eye, a tooth for a tooth’ is related to which theory of
punishment?
(A) Retributive (B) Reformative
(C) Rejuvenated (D) Preventive

148.  Patents are

(A) tangible rights

(B) intangible rights

(C) both tangible and intangible rights
(D) None of the above
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149.  Which of the following can be considered to be in the form of an ~ :
‘imprest’?

(A) The consolidated fund of India at the disposal of the President

(B) The contingency fund of India at the disposal of the President

(C) The consolidated fund of the States at the disposal of the |
President A

(D) The contingency fund of the States at the disposal of the |
President ‘

150. India and Bangladesh recently signed an ‘"extradition treaty". ;
‘Extradition’ means

(A) Exports without double taxation |

(B) Order of Indian courts will apply to Indians living in
Bangladesh '

(C) India and the U.K. will deport criminals on reciprocal basis to

each other
(D) None of the above
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